SPECIFICATION
Current Rating: 3 AMP

Insulation Resistance: 1000MQ Min.

Contact Resistance: 30mQ

Max.

Dielectric Voltage: 500V AC for one minute
Operation Temperature: -55°C to +105°C

ORDER INFORMATION
5][7]H DI D] [S] X] [F] [-]
T T |

— ]
>]

[-][0]
T

g

@

MATERIAL . Code | Boardlock Mounting GO:Gold Flash | S0:Selective B:Black Insulator
Insulator: PBT 1:Tin shell + L(RoHS) F:Female No. of contacts T wo Reaﬁégsefmg%lo GAS’ SASU" UBlue Insalator A:Tray
Contact Pin: Copper Alloy . N> | i romt et 4440 oA LS SE0n E:Green Insulator ——
Shell:SPCC 2:Nickel shell + L(RoHS) NH | W/O Front Rivet #4-40 5.8 GC:20u SC:20u
ell: BA W?(h Thread Insert #4-40 UNC GD:30u" SD:30u" 1L* 4 5
SCI’eW. Iron BB V‘,T(h Thread Ins;:r:::g;]:rclk#ic-ieovhl\‘;gio Attached . .
Rivet: Copper Alloy BC | With Jack Screw #4-40 UNC Removable
2023.01.17
93.05 #h-40 #4-40
; o A
[Ta]
NO. A B C D E F G H
A +0.35 15 130.81)124.99(16.33|19.15[15.60 | 2.29 |1.145 | 7.04
$3.05 Clear Hole
W/O Boardlock Rear Rivet #4-40 H:4.0 ~ Rear Rivet #4-40 H:5.8  pront Rivet #4-40 H:5.8  Front Rivet #4-40 H:4.0 B +0.25 26 |39.14]33322475|27.65]2450] 229 | 1145 | 6.88
57HDDSXF-XXNNXXXA-01  57HDDSXF-XXNFXXXA-01 ~ 57HDDSXF-XXNIXXXA-01  571pDSXF-XXNHXXXA-01 57HDDSXF-XXNDXXXA-01 ar 44 |[53.05(47.04|38.33|41.10|37.80 2.29 [1.145 | 6.88
+0.
& : 62 |69.32|63.50]|54.75|57.33(54.50| 2.41 [1.205] 7.00
4.8 #4-40
H$4-L0 —T
k- Lo (=2 000000000
[+4 un a
T, I I o R0 e
10.0 : J
[IBE] : .
=3 | v
a- ~ \CL\ z
9320 320 320 & &
Thread Insert #4-40 UNC Thread Insert #4-40+ Thread Insert #4-40 UNC+
With Boardlock Jack S\t/:\;%v gott?oﬁitacmd Jack Screv\\;vim—go Udl\llC lFjemovable =
I I i
57HDDSXF-XXBAXXXA-01 57HDDSXF-XXBBXXXA-01 57HDDSXF-XXBCXXXA-01 :—% [ 1 % = s@
)l % - TTATOCTT | g |
" —Is = 3.96
15 Position 26/ 44 1 62 Position E +0.35 '71
un
Q S D £0.35 he '
o G A G W <
e,ocfeo A"" Q/\\Q‘ ,f /) ‘H' %& @f 108
2 o » olo oo
° 2 O<€°O°C
F - H 7 ol 8
H 3l & F el = Old Part No.:HDBD-FXX-L
B = B - 2
' TITLE D-SUB HIGH DENSITY PCB STRAIGHT TYPE
Recommended PCB Layout = S
(CB TOLERANCE 40.05) w5 /A\ 57HDDSXF-XXXXXXXA-01 | ™ Gary
PART NO. DRAWN 2017/11/09
Bl 5 WA ik i) ason
g CN010-GA748 B J
DRAWING NO. REV. CHECKED]| 2017/11/09
ARt i KEY Jason
JE_JE a2 A opg o\ ) v None
. . L /é: ! N 4 F
‘ ECN NO.:221229 Revise the drawing Alice | 2023/01/05 pﬁg%jecrﬁolggy Co., Ltd. CUST?\M;?R il X £035 SEA;,I:E Apiz(;;/ED 2D
- 886-2-2268- ) VDY +2° — ANGLE {}
REV. ECN NO. OR DESCRIPTION REVISED| DATE Fr e Boae TOLERANCE .xx £025 2 [ unm | ™ lroveenon @



design
機構部門、完整姓名、日期


	圖紙和視圖
	模型


